[ Efficiency vs vertpos |

- 05
20.45
2
2 04
(&)
$0.35
0.3
0.25
0.2

ICI

effi

................................

.................................

.................................

0.15
0.4+
0.05

1.0

Ratio

i
+

o
©
a

10

=
2
N

1

10 0?
TP vertr (cr%)

Efficiend

—=— DQM_TT_time_newbranch

—— DQM_TT_newbranch_time_pLess

~ 0.2
20.18
o
>0.16
>
2
.90.14
o
£0.12
()
0.1
0.08
0.06
0.04
0.02

....................

....................

....................

.........

.................

...............

...............

L 0OF

Ratio
N
T

0.95!

[ Efficiency vs. sim PV z |

20 30
TP vert z (cm)

N 0.
>
8.0.09
£
50.08
20.07
oy
20.06
R
(&)
£0.05
(]
0.04
0.03
0.02

0.0

'y

1.0

Ratio

4
T

0.9

(S I B R LR R RN R RN RN RRR R RRRN LR RRRRE RRRES RARR AR

|

10

15 20
Sim. PV z (cm)




	Contents
	Page 1


